% 3R HTFEIMFEROCELN, Fin (3X0) plADO —#%h

, S } FEREARRREFAD

T F 4% W R R K B T 15m A | 15~645% | 65 LE

| & # 45,895 | 117,120 | 60,728 | 56,392 | 21,682 | 89,319 _6,119'
| ¥ % 1 T H 776 1,879 1,060 819 349 1,451 79
| % % 2 T H 937 2,287 1,192 1,095 360 1,740 187
| % % 3 T H 623 1,659 866 793 221 1,199 239
3% %= 4 T H 811 1,909 966 943 223 1,452 234°
| ¥ % 5 T H 706 1,475 763 712 170 1,125 180
¥ R 5 1 T H 1,149 2,457 1,219 1,238 306 1,937 214
¥ X B 2 T H 1,717 3,755 2,011 1,744 585 2,931 239
X £ & 3 T H 815 1,943 1,029 914 355 1,448 140
*t % 1 T H 1,194 2,205 1,114 1,091 321 1,789 95
*t % 2 T H 1,857 3,836 2,003 1,833 696 3,030 110
t % 3 T H 2,032 4,169 2,244 1,925 717 3,297 155
% 4 T BH 851 1,957 1,028 | 929 379 1,521 57.
% 1 T B 1,156 2,667 1,383 1,284 449 2,037 181
W L 2 T B 883 2,052 1,071 981 288 1,532 232
W T 3 T H 840 1,940 1,008 932 233 1,465 242
w L 4 T H 1,460 3,370 1,795 1,575 575 2,553 242
¥ T 5 T BH 964 2,001 1,181 910 336 1,680 75
w L 6 T H 823 1,697 940 757 304 1,328 65
B X+ R 1 T H 763 1,691 953 738 387 1,262 42
E + R 2 T H 1,048 2,405 1,315 1,090 497 1,848 605
E + R 3 T H 1,418 2,790 1,655 1,135 491 2,228 711
E & R 4 T B 702 1,536 853 683 293 1,194 49’
E + R 5 T H 1,171 2,317 1,344 973 392 1,880 45-
£ % 1 T H 566 1,603 844 759 412 1,149 42
® O¥ 2 T H © 652 1,572 - 897 675 304 1,204 64
w OB 3 T H - 638 1,811 966 845 310 1,390 111
% @ & v 1 T B 23 29 24 5 1 27 1
% %@ bvH 2 T H 13 19 14 5 0 19 0
&% % @ vH» 3 T H 18 21 19 2 0 21 0
€ M 1 T H 223 776 368 408 90| 647 39
E W 2 T H 544 1,863 917 946 432 1,382 49
g M 3 T = 1,335 4,378 2,171 2207 931 3,285 162
% B 4 T H - 253 818 416 402 115 637 66
A M 1 T B 4e4)  90) 493 97|  166| 78 37
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mT o % BB B 158k | 15~64%% | 6520k

4 )1 2 T H 621 1,229 642 154 |- 1,018 57

|4 m 3 T B 384 1,002 471 206 769 27
|4 W 4. T H 491 1,446 731 182 1,190 74
I# X 1 T B 258 834 412 111 669 54
£ XK 2 T -H 556 1,881 975 185 1,573 123
|#$ X 3 T H 483 1,585 798 236 1,284 65
# X 4 T B 315 1,102 538 172 857 73

|#® % 1 T H 1,315 3,148 1,450 593 2,870 185
V# % 2 T H 1,147 3,020 1,461 504 2,324 192
A #M 1 T H 146 148 48 0 147 i
A M 2. T H 764 2,656 | 1,322 627 1,969 60

A # 3 T H 581 1,995 999 348 1,581 66
A W 4 T B 668 1,716 807 263 1,366 87"

A ® s T B 302 1,111 594 203 862 46
A # 6 7T H 790 2,784 1,442 581 2,076 127
3' % & 1 T H 1,097 3,272 1,694 845 2,309 18
% ® 2 T H 896 2,901 1,467 745 2,012 144

1% & 3 T -H 429 1,452 747 230 1,135 87
% E 4 T H 472 1,566 818 217 1,241 108,
% #®& 5 T H 917 3,010 1,581 638 2,290 _825

| % & 2 T H 676 2,405 1,215 564 1,726 115°
|# & 3 T H 149 498 264 123 349 26
| s 0 0 .0 0 0 0
H %) HH 2,291 6,269 3,002 1,673 4,278 318
b 19 20 1 0 20 0

= M 683 2,103 1,068 594 | - 1,429 80




